(D23 % 78 b R 80 & (4 9 Be

2T O & ) |

1. SIS DRI R T 2. ARG (HA: 1)
T =
R Q44E S 254 2645 H H m 2R 2R 265
H H 1 A E3 & 1,503,300 3,992,800 426,117
1 #® I #%| 13,731,436 13,232,963| 13,573,243 2 fh = F & & 1,930,280 7,341,862 101,249
ME ¥ W 2| 11,748,385| 11,469,717| 10,975,407 |E|[3 i & F A #H & - - -
7 N BE I 3| 6,483,184 6,216,156 6,376,211 . 4 Ml = F A& - - -
a4 4 kML #R| 4,524,583 4,517,239 4,083,195 5 fl = F A B & - - -
v Ol E I A 740,618 736,322 516,001 ole E (B ) 4l By 4|  1,038,410] 3,241,893 72,197
fi &= 3 A #H & 513,425 477,595 250,886 7T % ) fth - - -
= OB 5 B O AR 6,583 6,510 49,958 1% A (@] 4,471,990 14,576,555 599,563
I\ SR AT AE T B IV 2R 113,670 118,694 136,121] | A [~ armms 2 10) - - -
= R OUN 2 9,090 9,033 9,013 B4R RERT AT T4 4R B A S () - - 105,800
z %) ity 97,850 124,490 70,023 M @-{b)+e)} (D 4,471,990| 14,576,555 493,763
@ E % 4 U 4% 1,844,641 1,729,896 2,504,176 L O otk B | 4,205,959 14,380,614 381,618
T SRR R OV 2 4 137 160 215 | x|2 4 ¥ & E R & 382,745 310,495 123,615
A F # 7 B W AR - - - HI[3 bR A 4 - - -
7 E B & 35,132 35,808 28,437 | %|a = ) ity - - -
= T R B) @ 73,944 79,127 77,220 H 53 W d ()| 4,588,704 14,691,109 505,233
F fh & B M OB & 462,912 633,402 691,688 |[Z=FIAR R (A) (d)-(e) () 116,714 114,554 13,712
H oM & B A M & 1,089,071 907,708 818,032 |l FRAR B8 B IR A 61,861 75,020 13,589
F BEHAI e REA - - 789,305 |- |2 AR R AL Ay A - - -
B T4 UNEN - - - M T EE & - - -
B A R R I 2k 515 503 607 F’f 4 % %2 ity 54,853 39,534 123
o Z OO EFEA I 182,930 73,188 98,672 R 5 it (g) 116,714 114,554 13,712
() Sl B Y/ R = 138,410 33,350 93,662| |4 CTA M A 2 FH(D-(9) - - -
26 fth = A& 137,835 - - AR AT RS A RIEF T O - - -
2 ¢ Al 13,757,171 15,231,318 14,738,636
&= ¥ # M| 13,146,902 12,787,846 13,911,862
7T W OB 5 | 6,141,271 6,493,513 7,107,836
A4 M Bl | 3,622,176] 3,519,915| 3,020,114
E3 i | 2,448,395 2,310,747 1,717,796
SR N S ¢ 77,892 70,563 73,803
v % #| 2,890,195 2,416,953 1,962,058
& i # 68,758 69,329 60,193
B ok & 164,964 211,786 242,173
% it BH - 1,119,990] 1,189,274 1,120,926
= i # 151 196 23
R SO I I ¢ 3,616 2,861 4,679
1S s # 120,579 123,712 138,205
z %) fiu| 1,412,137 819,795 395,859
=S A T~ S | R < ¢ 265,345 312,637 1,720,192
+ & E OB R # 194,033 6,605 70,536
B % W B # 33,882 38,223 31,127
Jik # 21,129 24,544 19,895
& 7 4,350 4,633 4,590
% %) fth 8,403 9,046 6,642
@E ¥ s % H 380,353 384,020 488,917
7 X B F B 16,298 14,124 21,723
© ¥ & F & 14,052 12,591 18,687
— I A & ) 2 2,246 1,533 3,036
A Ax FE IR BE - - -
v E # ¥ bt # - - -
T E ) F K 3,911 19,013 -
4 B IG BB 624 618 619
J DM E S E 359,520 350,265 466,575
ORI S 229,916 2,059,452 337,857
% " 8 o 65,771 27,747 A 921,196
i # W[ A 25,735 A 1,998,355 A 1,165,391
RO X B 4 25,654|  2,024,010] 1,732,784
~ B & % - - -
r OB OE OB Ok R - - -
B R R E(H R - - -
B AR b SR (M E) - - -




[ 73 % v b T s A (4% 0 B

DO & )]

3. AT A (HA7: M) (BN TH)

O O

254EE 264FJE 254EE 264EFE
H H H H

1|7 e = F X e 477,595 250,886 |7 e = F X 7E K - -
B M & | EERAHE 477,595 250,886 H MooON & | ERAH - -
=7 BES T 477,087 248,126 gl 2 SR B | w4 - -

PN e | 2 Koy | HER
ES ESC YN 477,087 248,126 Bl % # | FERAK - -
IO f 4 | KU 508 2,760 Wl = o i | FEERAK - -
I | 2% 17 B | ERRAH 508 2,760 2 1) R . X e K 7,338,367 85,062

— fih & 7 & &

o & o it | T - - ESC YN 7,341,862 101,249
Q|7 th = 3 I YE AR 536,546 691,688 w7 o8 % ke B EuEs 174,942 58,569
i & | FERAE 633,402 703,198 ( & & ) | F=eAm 178,437 71,441
(7) WEIE & B | 2 UE A 106,873 33,278 Kl B F % B | R 25,000 26,493
i R E R | A 106,873 33,278 (R ERE) | EeAs 25,000 27,987
=) = AT ORE R | HHE 263,793 505,749 Bl o AN BE g | 4 7,138,425 -
*F R R | SR 343,793 505,749 77 v R B | ERAE 7,138,425 -
() 3 ¥ B | KLU 82,329 55,392 EFlx # ) fit | AR AKHE - 1,821
# | FER A 82,329 55,392 (2) i = | O MERE - -
- B IR Ue 45 51,788 61,791 A H 4| =4 ] - -

BlEl® WL 4 A 1 %42%",\ , , b i 4 9%1’*%7\'%’,\

& oo o | EROAHE 51,788 61,791 TO#E R W B | U - -
) & Y % - - ( s &) | =K - -
()ﬁé%ﬁﬁlﬁ% f% A 75 9%{9.?7\%’@
ESCYN 1| - - A ' R % B | KU - -
2 KO 2 K Y 31,763 35,478 | 4 (R R | ERAH - -
JL H
TE ESI YN 31,763 35,478 . ) fit | FEMe KA - -
(€3] . & U - - 3) . F5 U %R - -
Be AT . fth £ 7 4l Bh &
ES YN - - ESC YN - -
) & 3L BE | gt e g - - 7 I U - -
eET7 | DX I I N
% g | TR - - TN - -
O = o | FEHRAKE 16,856 11,510 4 = ) fit | FEe KA - -
4 i = 3 e UE KH 568,826 661,609 . e UE KH 1,582,967 1,604,183

o . EA 3N 2E B E KON 4 E ,E%

8 IS B M & | ERAH 907,708 818,032 ESC YN 2,018,705 1,772,116
(7) = 5% e B | A 9,262 15,201 ) . J& Y % 7,338,367 85,062

= s N FY T VT
C R B ) | EAK 9,262 15,201 ESC YN i 7,341,862 101,249
“ | e - - . %E %A 8,921,334 1,689,245
\ ) ~ MR " 5 % AN & & Gt o
i ES YN - - ESU YN 9,360,567 1,873,365
N ( _ X e A 338,312 210,500
7>mx%rmnz Hﬁ,ﬁ e i -
ES YN | 253,169 210,500| 4. EE T D
(=) 3 v 4 - - O
O E R . 254RHE 264FE
T A - - H H
() I YE 4 116,454 10,731 1 1& ¥ @B s OfFE & 6,037,342 6,336,229
B E R | = . "

4 EX YN 116,454 10,731 B OB R & 5,868,340 5,961,559
Y b | - 16,428 1 T ' 4|H SR - -
(),@%%%?Eﬁi YR B 8 & L E T 4

ESC YN - 16,428 2 i 5 /LA IR - -
F) U eUT— | U 1,527 30,721 (2) #1548 3 MR 4 @b A% A% - -
voa v E R | SR 1,527 30,721 " (3) L FoE: 17 116,302 332,804
) F # mmo| KU - - (4) T SR AT B A o 4 fh 4% BE 52,700 41,866
® ko T | FEMRAE - - () T %5 /N 7= & - -
%) 3 I - 136,283 = | (6) 3 W . & - -
TS RO T
ESUYN | - 102,361 M B & &R i 4 - -
D & R S N (& - -
(@) & E o YE 55,518 183,610 (8) & f+ 7N &
ESUYNE| 55,518 183,610
HE 45
) O E X e A 47,753 58,135
ESCYN 5| 47,753 58,135
) o fh | FEHRAH 424,025 190,345




